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QUESTION 1

Which of the following is a compliance program that IBM Cloud supports? 

A. AES 

B. OSI 

C. HIPAA 

D. CNSI 

Correct Answer: C 

 

QUESTION 2

What is the function of the IBM Cloud File Storage Capacity Expansion feature? 

A. It is used by IBM Cloud Storage users to expand their file storage immediately 

B. It is used by IBM Cloud Storage users to manage data flow 

C. It is used by the IBM Cloud Storage users to regenerate data storage that may have been deleted 

D. It is used by the IBM Cloud Management team to manage file storage capacity 

Correct Answer: A 

 

QUESTION 3

What is the first customer-u address assuming a VPC subnet has the CIDR range 10.10.10.0/24? 

A. 10.10.10.0 

B. 10.10.10.4 

C. 10.10.10.24 

D. 10.10.10.1 

Correct Answer: A 

 

QUESTION 4

Which of the following two databases are integrated with IBM Cloud Hyper Protect Crypto Services? (Choose two.) 

A. MS-SQL 

B. Cassandra DB 
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C. MySQL 

D. MongoDB 

E. PostgreSQL 

Correct Answer: DE 

 

 

QUESTION 5

What is the charging model for IBM Cloud Object Storage Standard Tier? 

A. The charge is based on the size of the Storage Class Standard Tier configuration 

B. The charge is calculated based on the amount of data stored and retrieved 

C. The charge is calculated only based on the amount of data retrieved 

D. The charge is calculated only based on the amount of data stored 

Correct Answer: D 

 

QUESTION 6

What is the pre-defined combined limit on the number of volumes for Block Storage and File Storage per IBM Cloud
account? 

A. 2500 

B. 250 

C. 500 

D. 5000 

Correct Answer: B 

 

QUESTION 7

A customer has defined a requirement to enable all virtual server instances in the proposed VPC to be able to access
automatic operating system updates via the Internet. What is required to provide this functionality? 

A. A subscription to the IBM Auto Update proxy service 

B. Each server must have a Floating IP address 

C. The pre-defined Automatic Updates Security Group must be enabled 

D. Each subnet must have a Public Gateway 
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Correct Answer: B 

 

 

QUESTION 8

In order to provide a highly resilient and highly available network with ECMP and diversity connections to IBM Cloud,
how many Direct Link circuits should be recommended? 

A. 6 

B. 3 

C. 4 

D. 2 

Correct Answer: D 

 

QUESTION 9

Which of the following IBM Cloud Paks help to accelerate the build of cloud-native apps by leveraging built-in developer
tools and processes? 

A. IBM Cloud Pak for Microservices 

B. IBM Cloud Pak for Developers 

C. IBM Cloud Pak for Applications 

D. IBM Cloud Pak for Data 

Correct Answer: C 

 

QUESTION 10

A regional customer would like to migrate their VMware workloads to IBM Cloud with an emphasis on a lower cost
resiliency model to protect against approximately 48 hours of localized outages. The customer currently uses Veeam 

A. Multi zone vCenter Server, Veeam, and NetApp Storage Appliance for backup retention 

B. Single zone vCenter Server, Veeam, and Object Storage for backup retention 

C. Multi zone vCenter Server, Veeam, and File Storage for backup retention 

D. Single zone vCenter Server, Veeam, and Endurance Storage for backup retention 

Correct Answer: D 

 

C1000-118 VCE Dumps | C1000-118 Study Guide | C1000-118 Braindumps                                4 / 6

https://www.passapply.com/c1000-118.html
https://www.passapply.com/c1000-118.html
https://www.passapply.com/c1000-118.html


https://www.passapply.com/c1000-118.html
2024 Latest passapply C1000-118 PDF and VCE dumps Download

QUESTION 11

IBM Log Analysis with LogDNA can be used to manage which of the following? 

A. Cloud native applications logs on any Cloud 

B. System and application logs in the IBM Cloud 

C. Only application logs in the IBM Cloud 

D. Service Mesh in IBM Cloud 

Correct Answer: B 

 

QUESTION 12

What is a key requirement of a resilient architecture? 

A. Low tolerance level for interruption 

B. High rate of resource utilization 

C. Low rate of resource utilization 

D. High tolerance level for interruption 

Correct Answer: A 

 

QUESTION 13

Identify the component marked as B in the Cloud Connection scenario that shows a persistent connection established
between the customer\\'s environment and the IBM Cloud. 

A. Virtual Router Appliance 

B. Secure Gateway Client 

C. Secure Gateway Service 

D. Cloud Gateway Appliance 

Correct Answer: D 

 

QUESTION 14

Which Cloud Pak provides a data transfer tool utilizing the FASP protocol to provide significantly faster throughput than
typical FTP? 

A. Cloud Pak for Migration 

B. Cloud Pak for Integration 
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C. Cloud Pak for Automation 

D. Cloud Pak for Applications 

Correct Answer: B 

 

QUESTION 15

Select the unique key features of Hyper Protect Crypto Services on the IBM Cloud? 

A. Built on IBM Red Hat OpenShift technology, on single-tenant key management service with key vaulting provided by
dedicated customer-controlled HSM 

B. Hyper Protect Crypto Services provide state-of-the-art encryption using DM-CRYPT 

C. Hyper Protect Crypto Services can integrate with other any other Cloud provider services so as to manage key
access, log and monitor security events, and support compliance requirements 

D. IBM Cloud administrators have no access and it provides FIPS 140-2 Level 4-certified hardware 

Correct Answer: A 
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